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7131315431324 |5|5|7]|2]3|4]5
1] 9690 | 0| 6| 5| 8| 6| 8| 5| 0| 4| 0] 5/ 6 7| 0] Of O 35(SIM, Mec2 / RM1, Mecanisme, RM2, PAC
2| 9646 | 7| 9| 5| 8110]10| 8| 9| 7| 9| 8| 9| 8| 6(10| O 60|SIM / Termoth2-6, Practica dom-10
3| 9733 | O] 7| 5] 8] 6] 8] 7] 9] 5|/ 6|/ O] O] 8 5[ 0 O 37| -/RM1
41 9735 | 3| 6] 4| 8| 5| Ol O] 8] O] Of Of 8 7| 0Ol O O 23[SIM, Mec1, Mec2, Termoth1 / RM1, Termoth2, TCD, RM2, Practica dom
51 9737 | 0] 6| 6| Ol 6| 7| 5] O] 4| O O 6| 7| O] Ol O 25|(AM, SIM, Mec1, Mec2, DTI2, Termoth1-5 / RM1, Mecanisme, TCD, Ed fiz2, RM2, OM1
6| 9743 | O 6] 5| 9| 6| 8] 5(10| 4] O O] 6] 8 O] 0] O 32|AM, SIM, Mec2 / RM1, Mecanisme, Termoth2, Ed fiz2, RM2, Ed fiz3
7| 9749 | 0| 7| 6|10] 5] 7| 6|10| 4| 7| Of 7| 9 8| O O 40]|AM, SIM, Mec1, Mec2 / RM1, Termoth2, RM2, VM
8| 9341 | O O] O] Of O] O] Of O] O] Of O] O] Of O] O] O 0[SIM, DTI1, GD / RM1, TCD, RM2, VM
9] 9796 | 0| 6| 4| 6| 6| 5/ 5| 0| 4| O| 5| 6|/ 6/ O] Ol O 32|SIM, Mec1, Mec2, DTI2, TM, Ed fiz1 / RM1, Mecanisme, Termoth2, TCD, RM2
10| 9798 | 0] 6| 4| 7| 6| 5| 5| 0] 4] O O] 6/ 5| 0l Ol O 27|AM, Mec1, DTI1, PCLP, DTI2, Algebra / RM1, TCD, RM2, VM, Practica dom
111 9799 | 3| 6| 4| 8| 6| 6| 5| 8] 0] Of O Of 7| Ol Ol O 22(SIM / RM1, Mecanisme, RM2, VM, Practica dom
12| 9811 | 5| 0| 5| Of 6] O] 8 9] O] Of O] O] Of O] O] O 19( -/ RM1
13| 8977 | 0| O] 0] O] O] O] O] Ol Ol Ol ol ol Ol of of O 0| -/ RM2, MN1, OM1, PAC, Tribologie, VM, Practica dom
14| 9863 | 0| 6] 5| 6| 6| 6] 5] 9] 4] 0| 0| 6|/ 6| 0|10 O 36|SIM, Mec2, DTI2, Fizica, Termothl / RM1, Mecanisme, Termoth2, Ed fiz2, RM2
15| 9870 | 3| 7| 5[10( 8)10| 8| 9| 4| 8| 8| 8| 9| 8|10] O 49| -/ RM1, RM2
16| 9875 | O O| O 6 O] O] Of 9| O] Of O] O] Of O|10] O 11|AM, Mec2 / RM1, RM2, OM1, Ed fiz3
17| 9917 | O] 6| 5] 8| 5| 7| 8] 9| 4| 6| 0| 6/10| Of 7| O 41|SIM, Mec1, Mec2 / RM1, TCD, RM2, OM1
18] 9928 | 3| 6| 5| 7| 51 7| 8] 9| 5] O 51 71 9|1 Ol 71 O 45|SIM, Mec2, DTI2, Ed fiz1 / RM1, Mecanisme, RM2
19| 9938 | 3| 7| 6] 9| 9] 8| 7(10| 7|10 9|10| 9| 10{10] O 53(SIM, PCLP / -
201 9945 | O] 6| 5| O 5| 5| 5] 9| 4| 6| 0| 8 7] 0| 0| O 32|SIM, Mecl1, Mec2 / RM1, Mecanisme, Ed fiz2, RM2, VM, Practica dom
211 9950 | O] O Of Ol Ol O] O] O] Of Of Of Of O Ol O] O 0(SIM, Mec1, Mec2, DTI2, Termoth1 / RM1, Mecanisme, Termoth2, TCD, RM2
22| 9994 | 3| 6| 4| 8] 6| 8| 5| 9| 4| 0| 5/ 6/ 8 0] 0] O 34|SIM / RM1, RM2, Ed fiz3
23| 10003 | O 6] 5| 7| 6] 6] 9| 8] 5| 7| 6| 6] 6/ 0[10] O 50|Mec2 / RM1, RM2
24| 10007 | Of 6| 4| 8| 6| 7| 5| 8| 4] 0] O] 6] 7| O] 6] O 33|SIM, Mec2, DTI2 / RM1, Mecanisme, TCD, RM2, OM1
25| 10008| O] 7| 5| 7| 5| 6| 8| 9] 5/ 0| 6] 7| 8/ O] 0| O 41|Mecl, Mec2 / RM1, RM2, OM1
26| 10015 O 6| 4| 8| 5| 5| 5/10| 4| 0| 0| 7| 8] 0J10] O 33|Mec1, Mec2 / RM1, Termoth2, TCD, RM2, OM1




